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YR '7 '~ NON-CALCULATOR TEST

| —_— - . Teacher:.. n—___,
"Answer-each questiou in the space prowded

Show any worlking in each question-
Each question s worth one mark-

20 Marks

. C-tlcuhtcrs may not be used

-

Question + wmkmg

- Ansyer -

50x700=

. What number,i§ halfway.betwegn 2 end 47 -

v

Find 15% oF 3 metres.

Ears -
Fmd the value of 188+ 18

i

Verity lcﬁ home at7: 43am to traveI to work Her trip ta.RES 57 mmutes.

. What tinze does she get to work?
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Write a number in the box to give thie éxpression a value between 1 and 2°

Faith-wants to share them equally How many does Faith have to-give away
50 that all three girls have 1he safme number of smarties? ) .

LT ' +3
§ | Find the Sum 1+35 17+ 07 1435 17+ 194123+ 77718 ,
7 \
g Prudence thought ofz number After she doubfed the smunber and subtracted
+| 5 the result was 33. What was the number she first thought of?
i
'i
!
10 What is the greatest number of 40¢ chocoiates that Constance can buy w1th -
| 877 T
11 - Falth has 43 smarties, Hope has 27 and Chanty has 14,

CF-I'r 8N
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12 [Wiite an algebraic expression for *2 less than three tirn'e_s- x'

nmnber sentence.

B 1:314n8:+:"s'=

13 | Evaluate the expression 3a’b when a = g andb=2
\4
X
14 W_hich'l—mmber in the box is:
Smallerthan 420 . SR
1 AND greater than 220 . 430, 351
AND odd oo
AND divisible by 9 - 40
' 347 07 TasgT !
o -
135 Usmg al] of the uumbers and all.of the syrnbols Below, write a correct L

16

In the following sequence of numbers:
7,5,1,13,9,21,17,_

Thc mlssmg number fs:.

;
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17. Put the SAME number in the ts-vo boies‘ so that the stafement is frue: 4
. . .!
/ f
N P I {:27'><3 i
I',: °
# e l_,r i
The fnl[owmg pattem can bs worked out for perfect squares ’
= I
22 = 1 +3
F=1+3+57 , N : :
B =1e34+5+7 . N L
.| What is the expression for 972 . ' 4
19 " : : = :
. Waite down the suiallest fraction you can make with the following numbers: -
- - 3,5, 11 . .
: P -
: § :
20 - ) . ) ‘
: Pt = ., R _
{F
= - i{ .
.-



NON-CALCULATOR TEST 20 Marks

Name:....Em{l T R,

) _ Teacher:. He...teienndh..n. 1.4"

¢ Answer each question in the space provided : il

¢ Shew any worldng in eacll question s

¢+ Each question is worth one mark - ) i {j: -
»  Calculaiors may not heused .. ) N g
‘ Question + working ‘Ans‘.\’er ,-
50x700= 3soo0 1z
33000 |&
N PN

L

What number, 5 halfway betweon 2 and 47 4.

-l o1 2348
—Xl——-: ...2-'. x_.s— 7
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L5 " N
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Find 15% of 3 motres
©ag % 3e00m Yo -
200 7 LSewa Li‘Scm
_0-L3, A
350D :
200
u.S Frih + I
-18

Fiad the value of o
RAAETI

'h‘

- C\ \\ -
4 ‘A\A

Verity left home at 7:43am to travel to work. Her &ip takes 57 minutes,
‘What time does she get fo work? '
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Write a pumber in the box to give the expression a value between 1 and 2

7

Y4

Fmdthesum_]+3+I7+19+1+3+17+19+1+3+17+19
T 9 o . Zo 28 2o, Lo :

" LT s A0

Prudence thouailt ofa nurnbcr After she doubled the number and subtracted
5 the result was 33, What was the numbet she first thought of?

W

Za =3B %z ‘

a,:-'\cl e

10

What is the greatest number of 40¢ chocolates that Consta.nce can bu},r w1th :

377
20 .

-4

Y

T

Fa1tH hés 43 smarties, Hope has 27 and Charity has 14.
Faith wanis to share them e,qually How many does Faith have to give away
so that all three girls have the saie number of smarties? :

v W e . ,

% 27 g % 17 g% _
I T SR S | S
: 3. agahit 3 ’

23 2% 2® ‘ W3

128 .28
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17 [ Put the SAME mumber in the two boxes so thal the statement is irue: Z
- : o
‘ )
: . L
X —27: X3 - ' C1 .
3 -
- : .
B i A , o 2
The following pattern can be worked out for perfect squares: &
; lz. =1 'a
2*=1+3
F=1+3+5"
42 =1+3+5+7
What is the exprossion for 927 - ' o

1

¥z

Write down the srallest fraction you can make \-yith the following numb:ers:

23,511

.
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12 '\Vriteanalgebraic expression for ‘2 less than three tim’e:,;x‘ l -~
Z
R s
B2 L
. P (25
13 | Evalvate the expression 3a%h when a= ;I.and b=2
3x(Fx2 6
R LxL =G b
14 | Which ;mmbcr in the box is: o . . 34 Z.
Smaller than 420 L °li ESA T ‘ ' *?
| AND greater than 220 - e sl %" 330 (&
AND odd : o '(\) ' . .
AND divisible by 97 - w0 - % ,
' 3247 Tasg | 2 ST |7
- ’5 ’
15 Usiﬁg all &f the numbers énd all-of the symbols below, write a correct
number senlence. &, vudg ’ :
Ew e C aehet
E oL ' MA P ‘1§ .
]»31418:+s—0: W"‘ .
4 T : .
. T B3 ur s =R-]
L B el SR N SR
, SRNAS .
sfprer 0N .
. u +E = S _J_. i [
16 - ] >=.-:"
In the following sequence of numbers: Y A
- SRS . - % ~§.
21,5, 1,139,217, 24,2537, v, i
! 252 - 29 |°
The missi:}gnumberis:.......Z:ﬂ.....l....:..t.. :
12
L

x3+x3= ..... _....2.‘%—....-.- ..........
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